39126 A -RKAE-1 (BRAEFELER)

t- I f22411B-302 | 2458 PRI A | EAE
TEHH 2023/9/12 |ZXHEH  12024/10/25
R ((T4R) Wttt (£ 211B-302
RAgE T 219 Retbk  |12411B-302
Yy EN RERE R B RE 9 |3 23 |"FH 18. 82
e ZEWR (B A R 18 |H% IR il 0.39
Yy ZER (B RERE R B RE 18 |B# 195 |FX 62. 33
T4 R R R | KE R BEE | (& | Hifs e
B | B | £ | &
MR O 2000 530 18 I [ REGEZ] 1 0 0 0
AR O 2000 530 18 1| REGHZ| 1 0 0 0
Ttk O 1764 519.5 18 I | REGER | 1 0 0 0
JEAR O 1764 519.5 18 1| REGEZ| 1 0 0 0
Y1) i AR 80 480 18 I | REGERR| 0 0 0 0
T 5 AR 1764 80 18 1| REGER| 0 0 0 0
FH AR 1884 519 18 I [ REEZ] 1 0 0 0
IR (4GP | 1918 455 18 1| REGHZ| 1 1 1 1
IR (7)) | 1918 446 18 I | REGER | 1 1 1 1
IR (72 9F) | 1918 445. 5 18 1| REGHZ| 1 1 1 1
IR CHF) | 1918 445. 5 18 I | REGER | 1 1 1 1
T’E (R R 1896 880 9 1| REGER| 0 0 0 0
:1800%530%2|  #ETFHRK 1896 890 9 I | REGERR| 0 0 0 0
o;ggggc{: Ttk O 868 400 18 1| REREHZ 1 0 0 0
| s | sz | 400 | 18 | 1 |t 1] o | o | o
ZERLET 332 400 18 1| REGHZ| 1 0 0 0
HR-TAL 332 80 18 2 | REKEHER| 0 0 0 0
ot N T i 622 326 9 2 | FREGHE] 0 0 0 0
P (AR il 668 162 18 2 | REGEK| 1 1 1 1
:1820*2;9_ 615 Fegh s O 350 106 18 2 | REKEEER| O 0 0 1
2850, i fF JE O 610 106 18 2 | RECGERER| 1 0 0 0
e FH#EE O 350 106 18 2 | REKEEER| O 0 0 1
[HEjiE=m 610 106 18 2 | KRB 1 0 0 0
EW-=4&—| 878 499 18 1| REGHZ| 1 0 0 0
EW-=4&—| 868 499 18 I [ REEZ] 1 0 0 0
FEMIER O 820 530 18 1| REGHZ| 1 0 0 0
AR O 710 530 18 I | REGER | 1 0 0 0
TiitR O 1614 519.5 18 1| REGHZ| 1 0 0 0




Wit (R JEAR O 1614 519.5 18 I [ REGEZ] 1 0 0 0
o AR 1624 | 684 9 1 &Rk o | o | o | o
1 1650%530%7
10, B AR 674 499 18 1| REGER| 1 (U VR
100y egR) | 708 305 18 RS | I U I T I
IR (2 9F) 708 446 18 L | REGER | 1 1 1 1
IR (2FF) | 708 445. 5 18 1| REGHZ| 1 1 1 1
I CHIT) 708 445. 5 18 I | REGER | 1 1 1 1
Fdgr (R
~F R 850 170 18 I BNy 1 1 0
1 150%550%83
TR AR -4 5
(? TR 1650 120 18 1| HREEK 0 1 1 0
TR BR -4 5
%i' TH AR 1620 110 18 1 [ KRB 0 1| o 1
Titt 970 400 18 1 [ &RERE#Z| 1 0 1 1
AR O 732 400 18 I | REGER | 1 0 0 0
AR O 732 400 18 1 [ &REE#Z| 1 0 0 0
AR 914 737 9 I | REGERR| 0 0 0 0
EWR-=&— 904 350 18 I | RKECEZ 1 0 0 0
MHE O i | w0 | om0 |18 1 [mmeg| 1] o [ o | o
:940%400%75 | Ji5 #5 JEIAR 904 80 18 I | RKECEZ| 1 0 0 0
S e | ses | s | o 2 |zwciie] o | 0 | o | o
1] 448 184 18 2 [ REGEK| 1 1 1 1
Paskiii Er A 350 100 18 2 | REKEHER| O 0 0 1
IEEiibzqm 381 100 18 2 [ REGEK| 1 0 0 0
PEEiii ki 350 100 18 2 | REKEHER| O 0 0 1
[iEiipzm 381 100 18 2 [ REGEK| 1 0 0 0
FEMER O 2110 380 18 I | REGER | 1 0 0 0
AR O 2110 380 18 1 [ &RERE#Z| 1 0 0 0
T (R TiAR O 414 369. 5 18 L |REER| 1] 0| 0 | 0
o AR O 414 | 369.5 18 1 &t 1 o | o | oo
1 450%380%21
10, Boge | BRIAR-REE ] 414 80 18 1 [ FEE#| o 0 0 0
1) R 2006 | 426 9 1 | ezl o | o | o | o
MR CEF) | 2028 448 18 I | REGER | 1 1 1 1
EWR-=&—| 414 349 18 4 | HKECERK| 1 0 0 0
FEMER O 600 380 18 I | REGER | 1 0 0 0
AR O 600 380 18 1 [ &RERE#Z| 1 0 0 0
TR O 1204 369. 5 18 I [ RECEZ] 1 0 0 0
m‘i (R JEAR O 1204 369. 5 18 1 [ &RERE#Z| 1 0 0 0
11240438046 TR 1214 574 9 I | REGERR| 0 0 0 0




-FAHE (fE
(I
~f
:3410%569. 61%
2840, MLk
$:116)

00, AAF

%0:9) PR (KEFF) | 598 393 18 I [ REGEZ] 1 1 1 1
IR (A FF) | 598 393 18 I [ REREZR| 1 1 1 1
IR (2 9F) 598 448 18 | REGER | 1 1 1 1
AR 564 349 18 1| REGHZ| 1 0 0 0
VNI F 730 200 18 LRz oo | 1| oo | o1
;1804255*71 JEEAR 387 200 18 1| REGE| 0 0 0 1
T bR -4k 55
{ﬁ TR 1240 110 18 I | REGER| 0 1 0 0
TR (R
~F Thids i 280 100 18 1| REGER| 0 0 1 0
1 280%390%10
HE (R Eﬁﬁ%?ﬂ 2110 250 18 1| EEEZ| 0o | o | 0 | 1
:2504250*21 BF IO 249 481 18 3 | ARERER| 1 0 0 1
10, AR AF JEAR O 249 481 18 I Ny 0 0 1
H:6) TR 249.5 | 482 18 Uz 1l o | o | 1
FEMR O 2110 530 18 | REGER| 1 0 0 0
AR O 2110 530 18 1 [ &REE#Z| 1 0 0 0
TR O 1334 519.5 18 I Ny 0 0 0
JEAR O 1334 519.5 18 1 [ &RERE#Z| 1 0 0 0
Y1) i AR 80 510 18 I | REGERR| 0 0 0 0
BT B IR 1334 80 18 I [ZREKEZ| 0 0 0 0
FR AR 1994 519 18 I [ RECGEZ] 1 0 0 0
FIBC(/HJF) | 2028 | 454.33 18 I | RKECEZ 1 1 1 1
TR 2006 | 898.67 9 I [ AREKE#Z| 0 0 0 0
IR 2006 | 441.33 9 1| REGE| 0 0 0 0
THE (R | TIR(ETT) | 2028 | 454.83 18 L[ RBEHR|) 1 | 1 | 1|
o TR (HFF) | 2028 | 454.83 | 18 I F RS | S U R T A I
1 1370%530%2
110, BfE |ER-=4—| 429.33 | 499 18 1| REGER| 1 (U VR
B3D = 886.67 | 499 18 1 | mmEl 1 o | o | o
Tk O 886. 67 400 18 I Ny 0 0 0
FEMIAR 332 400 18 1| REGEZ| 1 0 0 0
H AR 332 400 18 | REGER | 1 0 0 0
BT 332 80 18 2 | REKEHEER| O 0 0 0
EfiiI[S 640. 7 326 9 2 | REKEER| 0 0 0 0
i1 686. 7 162 18 2 | FREGEK| 1 1 1 1
Paskiii Er A 350 106 18 2 | REKEER| O 0 0 1
JEHiEO | 628.7 106 18 2 [ REGEK| 1 0 0 0
Fim#EBO 350 106 18 2 | REGEK] 0 0 0 1
FrHiEO | 628.7 106 18 2 [ REGERK| 1 0 0 0
FEMER O 1760 390 18 | REGER | 1 0 0 0




T4 AR O 1760 390 18 I PN LY: I 0 0] 0
(R iR O 244 379.5 18 1 KERER| 1 0 0 0
~f
980K390%17 RO 244 379.5 18 1 KEREIE] 1 0 0 0
60, BAfF | BRI | 244 80 18 1 | RBGE] 0 0 0 0
#:10) SR 1656 256 9 1 | xmmaEl o | o | o | o
ER-=4&—| 244 359 18 4 | REE] 1 0 0 0
AR O 600 420 18 1 KEREIZ] 1 0 0 0
AR O 710 530 18 1| RRGER] 1 0 0 0
Ttk O 1584 409. 5 18 1 KEREIE] 1 0 0 0
wikE (v | JRARO 1584 | 409.5 18 U | BB 1 | 0] 0 | 0
o SR 1594 574 9 1| & o | o | o | oo
- 1620%420%6
00, Atk AR 564 389 18 2 | REGERR| 1 o o] o
1Dy EIE) | 598 248 18 1o x| 1| 1| 1| 1
I THR CH ) 598 454. 33 18 1 KERER| 1 1 1 1
I TAR (Z£FF) 598 454. 83 18 1 KEREIZ] 1 1 1 1
I THR CH ) 598 454. 83 18 1 KERER| 1 1 1 1
AR O 1360 280 18 1 KEREIE] 1 0 0 0
AR O 1360 280 18 1| RRGER] 1 0 0 0
Ttk O 904 279.5 18 1 KEREIE] 1 0 0 0
ER-=81 g, 279 18 1 | HEWmE#| 1 o o] o
. ZIN
b (R [ ER-=F—] 904 200 18 L RRGERR) 1 | 0 ] 0 | 0
~F e
 QA0%280%13 ElR-=5 904 249 18 1| RRGER] 1 0 0 0
60, tifF: IR 612 916 9 1 KB 0 0 0 0
14 TSI 736 916 9 1 x| o | o | o | o
IR (Z2FF) 768 468 18 1 KEREIE] 1 1 1 1
TR (%) 768 468 18 1 KRB 1 1 1 1
HRAAR 200 200 18 2 REREIE] 1 0 0 0
HH R 353 249 18 2 | REEE 1 0 0 0
AR O 1760 385 18 1 KEREIE] 1 0 0 0
n /\/_'
FAEAh AR O 1760 385 18 1| REGEE| 1| o 0| O
(R TR O 229 374.5 18 1 REREIE] 1 0 0 0
~f
 965%385%17 JEAR O 229 374.5 18 1 KRB 1 0 0 0
60, B | EIAR A 229 80 18 1 KB 0 0 0 0
10 AR 1656 241 9 L | REGERR| 0 0 0 0
YR R=YE] . -
G El-=&—| 229 354 18 4 KReEiel 1 0 0 0
~F Tt R
:295%385%1860 ~F ThiE i 265 100 18 1 REKEE| 0 0 1 0
CRRAEH11) | :265%385%10
Y EmO | 2330 530 18 1 | ZEEE| 1] o | o | o
F AR O 2330 530 18 1 KEREIE] 1 0 0 0




‘ TR O 764 519.5 18 L | REGE#%] 1| 0| 0| 0
JEAR O 764 519.5 18 1| REGHZ| 1 0 0 0
TR 2226 776 9 I | REGERR| 0 0 0 0
M g | 7o | 7o 8 | 1 [memare 1|10 o | o
:800%530%23| HHR-TEAL 764 42 18 I | REGERR| 0 0 0 0
ORI Tomspa] o | so | 18 | 1 |mmem] o | 0 | o | o
P (9P | 1084 398 18 I [ REEZ] 1 1 1 1
IIHR (H9F) | 1084 398 18 1| REGHZ| 1 1 1 1
P (9P | 1140 398 18 I [ REEZ] 1 1 1 1
IR CHF) | 1140 398 18 1| REGHZ| 1 1 1 1
EWR-=#&—| 764 499 18 I [ REEZ] 1 0 0 0
FEMIER O 1330 330 18 1| REGHZ| 1 0 0 0
AR O 1330 330 18 I | REGER | 1 0 0 0
TittR O 1584 329.5 18 1| REGHZ| 1 0 0 0
TR Eﬂi—.z/a\~ 1584 | 329 18 1| RE#E#E| 1| 0| o | 0
. :16203330*1 EW-=&/—| 783 299 18 2 [ REGEK| 1 0 0 0
R 330, # HHR 540 1594 9 L[ REEH| o | o | o | 0
o HeLS) A 776 | 1596 9 U |z o | o | o | o
1 2483%550%251
0, B fF4: 48) R 764 299 18 1 [ REER 1 0o o] o0
1B (72 7F) 808 403 18 2 [ REGEK| 1 1 1 1
IR () | 808 403 18 2 | KRB 1 1 1 1
DB O\ et | 180 532 18 1| &g 1] oo | o | o
:800*350*16 T3 AR 800 180 18 I | REGERR| 0 1 0 1
=l | 1650 550 18 I Ny 0 1 1
FEMER O 982 529.5 18 I | REGER | 1 0 0 0
AR O 982 529.5 18 1| REGHZ| 1 0 0 0
AR 1594 987 9 I | REGERR| 0 0 0 0
TSN | AR 982 499 18 1 | HmEWE] 1 o | o | o
(? AR -=4&—| 783 499 18 2 |HEKER| 1 | 0 [ 0| 0
116204030%1| g — 4| 783 198 18 3 || 1] o | o | o
000, #R 4
¥:19) bR | 783 79 18 2 |ARWGEER] L | 1] 0 | 0
Hik-TEAL 783 42 18 2 | REKEEER| O 0 0 0
MR (F) | 808 403 18 2 | KRB 1 1 1 1
MR CHIF) | 808 403 18 2 [ REGEK| 1 1 1 1
EWR-=4&—| 783 497 18 1 S 1 0 0 0
TR AR -4
(éj' TR AR 1620 110 18 1 [ KB 0 1 0| o
THF H % i 5. H 2023-09-12 22:05:56




